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Olvassa el a két szöveget és az olvasott szöveg alapján oldja meg a két feladatlapot. 

Elérhető pontszám: 20 pont 

Figyelem! A vizsga akkor lehet sikeres, ha a vizsgázó részegységenként legalább 40%-ot teljesít.  

Végső megoldásként csak a tintával írt változatot fogadjuk el. 

Kérjük, hogy jól gondolja meg a válaszát, mivel bármilyen válaszmódosítás esetén válasza érvénytelen. 

 

MEGOLDÓKULCS 

 

1. szöveg (250 szó) 

I. feladat 

a Bridegroom in custody 2 

b Officials to uphold the law 4 

c Officials in operation at wedding ceremonies 1 

d UKBA in need if information -- 

e Intelligent colleagues -- 

f Two awaiting to be returned home 3 

 

II. feladat 

In both cases the foreign citizens stayed in the UK illegally (1). The man from India and the 

woman from Mauritius wanted to marry (2) a British and a Polish citizen. The woman’s 

daughter was to act as a witness (3) to the ceremony. All three offenders are held in detention 

(4) and they are waiting for removal (5) to their home countries. The UK Border Agency 

fights against the abuse (6) of the system. 
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2. szöveg (879 szó) 

I. feladat 

a The appointment procedure for ombudspersons -- 

b Law enforcement and the ombudsperson 3 

c The role and competence of the ombudsperson 1 

d The purpose of the position -- 

e The requirements of the position 2 

f Ombudspersons outside the sphere of the executive 4 

 

II. feladat 

1. 

a) The Ombudsperson is providing the complainant with some possible beneficial 

solutions. 

b) The Ombudsperson tries to find the most acceptable solution for both parties 

involved. 

c) The Ombudsperson is seeking the most deterrent solution. 

d) The Ombudsperson is making good solutions. 

 

2. The Ombudsperson’s goal is to  

a) assist in smoothing over the conflict between the parties involved. 

b) help in minimizing the agreement between the government and the public. 

c) aid in strengthening the arguments between the civil service and groups of people. 

d) aid in strengthening the disagreement between the parties involved in a dispute. 

 

3. The Ombudsperson must be accepted by the parties as a  

a) dependent person. 

b) deprecatory person. 

c) dependable person. 

d) deplorable person. 

4.  

a) The Ombudsperson has to be a qualified lawyer. 

b) It is not characteristic that the Ombudsperson has graduated from law school, although 

it is a requirement. 

c) Typically, the Ombudsperson has taken a degree in law, although it is not a 

prerequisite. 

d) The Ombudsperson seldom has a law degree. 
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5. 

a) The Ombudsperson’s recommendations are legally non-binding. 

b) The Ombudsperson elaborates new bills in legislation. 

c) The Ombudsperson can modify the administrative regulations.  

d) The Ombudsperson is entitled to initiate proposals. 

 

 

6. The Ombudsperson may ask the police to arrest someone outside the workplace because 

(s)he wants to  

a) threaten the employee. 

b) threaten the employer. 

c) ensure the safety of the arrest. 

d) apply more adequate means in enforcing law. 

 


